ABER R

R %i?%‘llzé‘;&&%l?ﬁﬂ
&
7

T % Eeaga PR i
-1 3z 042 128 2R %18 ALFLER]L
Bl 2045 1282 R 5 1EHHP R 5152 L
-1 #05% 128 2R %18 HH AL FLER3 L
F-1 #0= 1282518 HHP R L5151
-1 & 0% 128 2R 518D H AL FLER2L
W-1| 2o 1128 2R $ 18 PP XL Fas s
K- 2 #OE 128 2R %18 ALFLEF]L
K- 2 wO0® 1282 R 5 1EHHP R L5152 L
K- 2 AV 128 2R %18 HH AL FLERI L
T-1 O3k 1282 R 518 HHP R 5151
w1 k032 128 2R 518D H AL FLER2L
-1 R0+ 1128 2R %1 EPP AT FLA%53 L
T2 FI0F 128 2R %18 HHALFIEF]L
T2 % 0% 128 2R %18 PALFLER2L
w2 #0 128 2R 518D H AL LRI
BR-1 #F0= 128 2R %18 P AN
B-1 =0 128 2R F1EHHP R T FT8%52L
BR-1 0% 128 2R %18 PALFLE%3 L
B -2 04 128 2R 518 PP 2T Fas] L
R-2 B 045 128 2R %18 PALFLE%2L
B-2 0= 128 2R 5 1EHHP R T 51853 L
B-1 T 0% 128 2R %18 P ALFLEN]L
B-1 % 04+ 12 2R %1EHPPALFLES2L
B-1 ”.}Z"JOIéT] 128 2R %18 PHALFLE%3 L
-2 RO+ 12 2R %1EHPAITFLES] L
-2 0% 128 2R %18 PHALFLE%2L




B %i?%’llzggﬂ&&%l?ﬁﬂ
E g
3

Bk P R R
T % Eeaga PR i
-2 F0% 128 2R %18 H AL FLE%3 L
-1 10% 1128 R %1 8PP RIFL5%] L
B A 0F 128 2R 518D HALFLER2L
Bl RO% 1282 R 518 HHP R 51853 L
%-1 0% 128 2R %18 HHALFLEF]L
-1 207, 1282 R 5 1EHHP R F1E%2L
%-1 §R0H 128 2R %18 H AL FLER3 L
% -2 =20% 128 2R %18 PALFLEN]L
B -2 0% 128 2R 518D H AL FLER2L
B -2 0.5 1282 R 518 HHP R 5153 L
® -3 =0=% 128 2R %18 HHALFIER]L
%-3 ENOE 1282 R 5 1EHHP R 5152 L
®-3 203 128 2R 518D H AL FLERI L
% -4 3x0% 1128 2R %1 8PP RIF15%] L
% -4 F 0% 128 2R 518D H AL FLER2L
% -4 P04 1128 R 5% 18P PR Trra %3t
ol % O3 128 2R 5 1EHHP R T 51851 L
Fol 040 128 2R S 18HH T r1a%2 s
- MO0 128 2R S 158 HH AL FLm3s
E3 | O35 128 2R % 18P ALFLEN]L
R = 0% 128 2R F1EHHP R T FT8%52L
E 5% 01 128 2R %18 PHALFLE%3 L
K= 2 0% 128 2R %1 B AITFLES] L
K= 2 3% 0% 128 2R %18 PHALFLE%2L
B2 R OpT 12 2R %1EHPPALFLE%3 L
T-1 7045 128 2R %18 ALFLEN]L




ABER R

B %i?%’llzggﬂ&&%l?ﬁﬂ
E g
3

T % iz P EE R FE
-1 PO 1128 R 518 PP AT R527
fii A& 07 11282 2R %1 8PP RAIFLA%I L
w2 1 07 128 2R %18 HHALFLEF]L
=2 ¥ 03% 128 2R %18 PALFLE%2L
T2 iw Q9 1128 2R 51EDPHPALFLHFIL
Bl g 0rF 128 2R %18 PALFLEN]L
A= O 11282 2R 51EDHP AL FLHF2E
BR=1 ] 3803 1128 2R $18H P 2L FLa 532
B =2 203 128 2R %18 HHALFIEF]L
R =2 0% 1282 R 51 8PP RAIFLB%2L
B =2 %03 128 2R 518D H AL FLERI L
B 1 mO0= 128 2R %18 PALFLEN]L
=1 i 0% 128 2R 518 HH AL FLER2L
B 1 #03% 128 2R %18 PALFLE%3 L
B2 %20:% 128 2R %18 HHALFIEF]L
= 2 $0% 128 2R % 1EDH XA FFL8 52
=2 wOF 128 2R 5 1EHHP R T 51853 L
-1 0 11282 2R %1 8PPAIFLaF] L
-1 EOF 12 2R %1 B AITFLES2L
-1 20F 1128 2R %1 EPP AT FLB%2L
-1 #O0+ 12 2R %1EHPAITFLES] L
-1 % Op 11282 2R 51 8PP ATFLB%2L
-1 =0+ 12 2R %1 EHPPALTFLE%3 L
®-2 +# 0% 1128 2R %1 8PHPATFLaF] L
B2 20/ 12 2R %1EDPAITFLE%2L
B2 =0% 128 2R %18 PHALFLE%3 L




B &s § 5F 3 l%‘«i?,i%’llzéﬁﬁ)i%lﬁﬁﬂ
F 7
k)

% AR T _RE K /ﬁiw

T % iz P EE R

B3 iz 0% 128 2R %18 ALFLER]L
-3 w0 % 1282 R 5 1EHHP R 5152 L
% -3 202 128 2R %18 HH AL FLER3 L
B -4 MO % 1128 R %1 EPPRIFL5%] L
-4 i O%% 128 2R 518D H AL FLER2L
B -4 4 0% 1282 R %1 8PP RAIFLA%I L
=l # 0 128 2R %18 ALFLEF]L
Bl O} 1282 R 5 1EHHP R L5152 L
=l P 0% 1282 =R 51EHHP R F153 L
=1 042 1282 R 518 HHP R 5151
B=1 0k 128 2R 518D H AL FLER2L
=1 =01 1282 R 518 HHP R 5153 L
W=2 1R0%% 128 2R %18 HHALFIEF]L
K=2 #0iE 128 2R %18 PALFLER2L
=2 50/%;” 128 2R 518D H AL LRI
=1 102 128 2R %18 P AN
=1 % 0/ 128 2R F1EHHP R T FT8%52L
= =1 =045 128 2R %18 PALFLE%3 L
=2 ¥ 05 128 2R % 1EHHP R T 51851 L
T=2 RO 128 2R %18 PALFLE%2L
=2 A5 03 128 2R 5 1EHHP R T 51853 L
B =1 * 03 128 2R %18 P ALFLEN]L
BR=1 0% 12 2R %1EHPPALFLES2L
BR=1 Z 0% 128 2R %18 PHALFLE%3 L
R=2 w05 12 2R %1EHPAITFLES] L
R=2 g'xOIéf] 128 2R %18 PHALFLE%2L




B3 %i?%‘llzé‘;&&%l?ﬁﬂ
& 1
3

% AR R
T % iz P EE R FE
R = F.0%e 128 2R %1 8HPH A 4515537
&= w0 1128 R %1 8PP RIFL5%] L
&= 0% 128 2R %1 8HPH A L5552
&= % O 1128 R %1 8PP RAIFLA%I L
B=2 &07% 128 2R % 18P H A Y5551
=2 #0448 1282 R %1 8PP RAIFLH%2L
B=2 %#H08 128 2R %1 8PH A F 515537
B=1 = 00 1128 R %1 8PP RIF15%] L
Bl 0% 128 2R %1 8HPH A F 518527
B &0 2 1128 2R %1 8PP RAIFLH%I L
%=1 M0z 1128 2R 51EDPHP AL FLmF] L
%=1 - 04% 128 2R 51 8PP RAIFLB%2L
%=1 0% 1128 2R % 18P A F 515537
% =2 % 0%_ 128 ER %1 EH P RFTr185]
B =2 BO0* 1128 2R 51EDPPALFLHF2E
% =2 B0k 128 2R %1 82HH A 4515537
®=3 + 07z 11282 R %1 8PP RIF15%] L
% =3 K0k 128 R %1 EHH A I 515527
%=3 + 0% 1122 R %1 8PP AT FL5%3L
% =4 00 128 R %1 82HH A I8 %] 7
% =4 g0~ 2R R %1 EHPHPRAIFL5%2L
% =4 M0 2& 128 R %1 8HH A Y1553 7




